
Division par 10⁻³ (G)Trouvez chaque quotient.
40 ÷ 10⁻³ = 79 ÷ 10⁻³ =
76 ÷ 10⁻³ = 15 ÷ 10⁻³ =
56 ÷ 10⁻³ = 6 ÷ 10⁻³ =
65 ÷ 10⁻³ = 99 ÷ 10⁻³ =
75 ÷ 10⁻³ = 7 ÷ 10⁻³ =
27 ÷ 10⁻³ = 20 ÷ 10⁻³ =
62 ÷ 10⁻³ = 80 ÷ 10⁻³ =
63 ÷ 10⁻³ = 43 ÷ 10⁻³ =
11 ÷ 10⁻³ = 82 ÷ 10⁻³ =
40 ÷ 10⁻³ = 6 ÷ 10⁻³ =
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Division par 10⁻³ (G) SolutionsTrouvez chaque quotient.
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40 ÷ 10⁻³ = 40 000 79 ÷ 10⁻³ = 79 000
76 ÷ 10⁻³ = 76 000 15 ÷ 10⁻³ = 15 000
56 ÷ 10⁻³ = 56 000 6 ÷ 10⁻³ = 6 000
65 ÷ 10⁻³ = 65 000 99 ÷ 10⁻³ = 99 000
75 ÷ 10⁻³ = 75 000 7 ÷ 10⁻³ = 7 000
27 ÷ 10⁻³ = 27 000 20 ÷ 10⁻³ = 20 000
62 ÷ 10⁻³ = 62 000 80 ÷ 10⁻³ = 80 000
63 ÷ 10⁻³ = 63 000 43 ÷ 10⁻³ = 43 000
11 ÷ 10⁻³ = 11 000 82 ÷ 10⁻³ = 82 000
40 ÷ 10⁻³ = 40 000 6 ÷ 10⁻³ = 6 000


